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Example 1 Using the Formulas for Surface Area and Volume

Find the surface area AND the volume of each of the following shapes:
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Lesson Six: Surface Area and Volume of Irregular
Shapes

In lesson 3 you found the area of irregular shapes by using the formulas for shapes that you know, and
adjusting them for the given irregular shape. You may have added areas (composite shapes),
subtracted areas (shaded area), or found a fraction of a regular area.

All of these skills can be applied to 3D shapes as well.

Example 1: Composite 3D Shape
The following shape is a grain silo. It stores grain in a dry place until need%(qr%sold) by a farmer. Itis
made up of a cylinder with a cone {with 8 m height) on top. Calculate thé volume of this composite

shape. ‘
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Example 2: ‘Shaded’ Volume Total volvme §37. 76+ /099 77/ ‘?33;55
A company manufactures cement sewer pipes. The pipes have a thickness of 4 inches, and the hollo

portion has a diameter of 36 inches. The pipes are sold in 20 foot lengths. Calculate the volume of
cement required to manufacture one pipe.

jarn =4t . |
cylmdler (oufefr> Vol CW’ (mn«:r)
Ve ae?h

/0! T

e TTf 2 2 i e

V= (22 (94O> ; =7(Ig) (MO) A _add ,*7! J., >
= 304,927.421n =44 290. 2410 /&in




